% PE %
R s¢ %-35%¢° 5%
BT
Abstract

An nxn square is called an m—binary latin square if each row and column of it filled with
exactly m “1”s and (n—m) “0”s. We are going to study the following question: Find the smallest
integer a, such that for all nxn m—binary latin square, there is a kxk square in which no more
than a “1”s exist. The situations that m=1, m=2, or k|n have been solved so far. We will

work on the more general results, that is, whenever any n,m,k are given, we can get an answer.
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